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KRR HEA A 0.2 39,700 7,940
EAGEAE B HEAR A 1.0 25,800 25,800
BAKERE HEAR A 1.0 26,500 26,500
B HEH H 1.0 18,400 18,400 |D270PSH! 3~5tf
Bl BEAHE Rk « AT S % 23.95% 78,640 18,834
— i B BEACHE -\ Ak AP LS % 20.23% 97,474 19,718
a5 117,192 117,192 60,240
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K L fihiEds GRS, Rk, PEfadk)
LR ES 13 & K - fiE s 1 H Y7Y
% B JEIR - B | B & B A 4 KA i 2
FRREL B (i) L 129.0 109.9 14,177 | R4y IR
KRR Koy A 0.2 39,700 7,940
B KHE B Ko A 1.0 25,700 25,700
BKERE Koy A 1.0 26,400 26,400
HE TEHL H 1.0 13,000 13,000 [D270PSH! 3~5t
HE A H 1.0 18,400 18,400 [D270PSHI 3~5t
B s BIRFHS « Koy s - EAA T % 23.95% 105,617 25,295
—E B AT « K Gy s e A s % 20.23% 130,912 26,483
& i 157,395 157,395 60,040
TE K ik CBUIFHE, RAHE, 1E1AHE)
A F 14 = K AR LA e 1 B %7v
EAR AR - SHE H A | BB H A &> %A i 2
K HEE% Koy A 0.2 39,700 7,940
B AGHEKE B Koy A 1.0 25,700 25,700
BAKERE Ko7 A 1.0 26,400 26,400
THE HEH H 1.0 18,400 18,400 |D270PSH! 3~5¢t
Bl KT « Kok - A % 23.95% 78,440 18,786
— i B AT « K G0 1 « A s % 20.23% 97,226 19,668
& & 116,894 116,894 60,040
T K iy s N
Hf = 15 & T K - i i Mg 1 H Y%7
% B R - STk H o | & & A 4 KA 2
KB e (ki) L 129.0 109.9 14,177 | K43 IR
KGR Koy A 0.2 39,700 7,940
B AKGHKE B Koy A 1.0 25,700 25,700
BKERE Koy A 1.0 26,400 26,400
THE IR H 1.0 13,000 13,000 |D270PSHI 3~5t i
THE HEH H 1.0 18,400 18,400 |D270PSHI 3~5t
B E g K728 Pk % 22.95% 105,617 24,239
—E Ky 281k % 20.23% 129,856 26,269
o & 156,125 156,125 60,040
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K LA (RIZEHE)

K A

K Lt

HfF 16 = K A A e 1 B 470
% FR JER - ST EAIEE H A & FH i HL
KRR Koy A 0.2 39,700 7,940
B AKGEAE B Ko7 A 1.0 25,700 25,700
BAKERE Koy A 1.0 26,400 26,400
B HEH H 1.0 18,400 18,400 [D270PSH! 3~5t 7
Bl i Koy Ze ik % 22.95% 78,440 18,001
— i B Ko ZEHE % 20.23% 96,441 19,510
a5 115,951 115,951 60,040
G5 7 | B I )
Hfl R 17 & K A& s 1 H Y7V
% B AR - Sk H o | & & H AW 4 KA il B
KB 5 (e ml) L 129.0 107.9 13,919 | = iy I
B K GG El5 A 0.2 39,600 7,920
B KEHE B =5 IN 1.0 25,500 25,500
BKERE Ei5 A 1.0 26,200 26,200
HE TR H 1.0 13,000 13,000 [D270PS%! 3~5t
THE HEH H 1.0 18,400 18,400 |D270PSHI 3~5t
Bl PR Al IR % 23.95% 104,939 25,132
— R B I 5 A « BT ey % 20.23% 130,071 26,313
& & 156,384 156,384 59,620
GRE S5 | = IR )
HAfF 18 & K A A e 1 B 470
% R AR - SHE B | % & H A & FH i B
KR B A 0.2 39,600 7,920
EKERE B = Ik} A 1.0 25,500 25,500
BAKERE =10 A 1.0 26,200 26,200
B HEH H 1.0 18,400 18,400 |D270PSH! 3~5tf
Bl P « BT % 23.95% 78,020 18,685
— i B s P « B % 20.23% 96,705 19,563
a5 116,268 116,268 59,620
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T K i s (R L Fe s « 40 WS - FE AR D)
HfF 19 7= T K i s WHEE 1 B 470
% FR JER - ST V- B Afh & FH i HL
FRREL gl (s md) L 129.0 107.9 13,919 [FENd & IR
K EETR RN A 0.2 39,800 7,960
B KEHE B RV A 1.0 25,600 25,600
BKERE RV 5y A 1.0 26,500 26,500
HHE L H 1.0 13,000 13,000 [D270PSH 3~5t i
B HEH H 1.0 18,400 18,400 |D270PSH! 3~5t i
Bl JEE VR B - 4 ik - A Y % 23.95% 105,379 25,238
— % B JEE VR B2 i - 44 ik - AT Y % 20.23% 130,617 26,423
& i 157,040 157,040 60,060
K AR A (FE R sk - 40 Wk - FE A )
Hifl = 20 = K LA HE A el 1 B 7w
£ R AR - SHE B | & & H A 4> KA i B
B K EER IR A 0.2 39,800 7,960
B KEHE B ) A 1.0 25,600 25,600
BKERE eV S A 1.0 26,500 26,500
B HtH H 1.0 18,400 18,400 [D270PS%! 3~5t
B JEE B vk - 4 i« AT % 23.95% 78,460 18,791
— i B JEE I T - 4 R - T A S % 20.23% 97,251 19,673
& & 116,924 116,924 60,060
/K i s (FE 18 Vi)
AR 21 & K i WHEE 1 B 470
4 R JEAR - STk HAr H H A & R il B
ER /N 5 (i) L 129.0 107.9 13,919 |FEE &R
KGR RV A 0.2 39,800 7,960
BAKHERE B R A 1.0 25,600 25,600
BKESRE ) A 1.0 26,500 26,500
HE TR H 1.0 13,000 13,000 [D270PST! 3~5t i
HE HEH H 1.0 18,400 18,400 [D270PSH! 3~5t i
B s T 1 v+ % 25.43% 105,379 26,797
—E P T v+ % 20.23% 132,176 26,739
& & 158,915 158,915 60,060
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K Lt

T K i i

K i

(Fe1E vsifE =)
HAfF 22 75 K AR LA 1 H M7b
% R 2N RIS EVEE- B Al & KA i B
KR SV A 0.2 39,800 7,960
BAKGEAE B JEE IR A 1.0 25,600 25,600
BAKERE RN A 1.0 26,500 26,500
TEE HEH H 1.0 18,400 18,400 |D270PSH! 3~5t
B E s Fa1E Tl % 25.43% 78,460 19,952
—E B T 1 PR+ % 20.23% 98,412 19,908
& BF 118,320 118,320 60,060
(FBEE)
HAfF 23 & K i A 1 H M&p
% FR AR - ~HE = H A & FH i B
FRREL g (s ml) 129.0 107.9 13,919 [N & IR
KM EER JEE I 0.2 39,800 7,960
B AKGEAE B JEE IR 1.0 25,600 25,600
BAKERE RV 5 1.0 26,500 26,500
HHE LR 1.0 13,000 13,000 |D270PSH! 3~5t
HHE HEH 1.0 18,400 18,400 [D270PST! 3~5t 7
B i EEE 23.45% 105,379 24,711
— % B BEEE 20.23% 130,090 26,317
& & 156,407 156,407 60,060
(BES)
AR 24 & K AR LA 1 H 47&b
% B JEAR - <HkE L AL ¥ &= Al & R il B
B K EETR IR A 0.2 39,800 7,960
B KHE B ) A 1.0 25,600 25,600
BKERE ) A 1.0 26,500 26,500
B HEH H 1.0 18,400 18,400 |D270PSH 3~5t i
B E e EEE % 23.45% 78,460 18,398
— % B EEE 20.23% 96,858 19,594
& & 116,452 116,452 60,060
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